1) =0i

> TROO M| Al2| Y WHi= 27| U2 HY HE 230lo)H| 212 24
(FA7IZ > 0fo|QE|A > Z2Ujolo|A Sl JHs)

> Z2oHd pof Z2 AP 0|3 TRI0 90 H7|x| 7of Al Ala|2d

> TROO HIZ 2 A| T2 H 1} 37| 201 4 918

> FAZIS(R, BHI), ARS F22 24|17t 7ts, Fot U Y301 HME| T2 SHA|ZI0|t Th53

> 91301 MEf 22 A| HIZL 2 v 5=

> ARO(Z 7| o) 701 A| A2/ 'Ee{7} Uelx| elot M2ix| S2o| 27t

> BOj7|2k 0|50 44k 75+ Q13 ZH| Al, BRI S=20| 27kt

> O] Rk MRix| Foivt 7t

> 2 TEoMAE UE A HEC| 2, B, HAGE UL ALS) L AEHI 22 HEE HE 7t

7t oot 2 T GO mEt Bhgol HietE +~ U

L
-
e
ity
i)
T
=
oo

2) %
i
> TROO HEIX| S5 A| ALEE[= A2[2 Mo ofd ZERM 7|7 TllE A2 S #HoPto| AHE 7Hset
(2018 124 TR9O HBIX| T2 7|7+ & Wyl A|2|2 B 5Tto| 20184 12 TRIO B2IX|0| AL 7H5)
> S27|7t L TROO 2IX| /DI04 A|2]Y MBS Q12 3 S2 ot
> 55 2= oo oteff 2IHIE| 578 7ts
> A2|E drol T= AL =7t
ThR|
> DL X = 71 I7Hof| & ofotx| ot X E &8 7ts
> 5= 712t 3 BH HE0| 7ts. S5 712t 2oll= B BE =7t
> EHIH Elgl2 3 330 B Melo| MXIYE 4% 7IZS YU A HHH 24
> AEX| 7|2t =F EHO| of FO|2te S ofAlot ALt o H HE[ Al B HA|7F HHT +golM X<l
> B9l 5 3t Qo2 HE2 HHEMS A| | Melo| BN A5 et
> 2Ix| oo} PRSI S8 Q] W2k Al HHOIH, TR 24 34
> MEX| Tojef 2Ecto] oHIE RF | FF G S Pl HAX QU Ao st of|e| Y2 S1&EIX| U3
>Eo2EM 29 U H2|(RHE 5ol et A BRI B ARl EloLIXiolA| S
2 =X
=1 O

> MES O|XIZ A B 27} (291 AT 801 JH5 3t MRS - FUSES, 2HAGS, oA 5)
> HEok ol Hel 32 T S MF X 2(5E M7 8ol 58 =7h)
> TROO Z2IX| /et L S2 2k2 Alojat oleiC| 5% Jhs
> 57 AR U AL S|ALAHO| Q3 MEE & YO0, HE Al ¥ BX| o
> MBIX| A4 HoloHs Z2 OlHIL| 2752132 s :

(20181 12 TR9O Z21X| 20| £ 201813 4% TRIO 22IX|of| FHoloHs ZS)

ol

= ZO|AMHE 4XI5H &, TR9O MEIX| T2 0 Mol ZoisiZAI7| HIZLICE



TT — —— = = (25
> QlHIC| £ Al 2F AEHZO| QFLOf| E-3ot0] LYl QlHtC| =78 Autgkof thgh A2
ol 2lofA| eH, 2oy oj+=3 22 Qo =T =7t

IZIYE - 25 58 AXGE" = AL

> HXWE 2+ 48 - 53
= 278 AR E 30%, 515 5% XYE 27%, 3% ZY30! ofoIxIZ - Ao{= 17H 57)

(ol - 2|

> el HTIE 3% ol 6% 0jet 2 ofolx|et e-Aaol= TP 17) 5
(£, 2-2.9% 2l A2, 3 57 18 1Y 5 39%8 HON SAY 245
> THQI XIX| S 7% O[4F 262k : offo|X|2f TRIO 90 Th7|X| 14 E 57

(BF 6-6.9% YT SUATH AABS 24)

> Bl Hed FX|UHE 7% |4 23 E MY miopulA ofo]x|2t 7| E 1 E 5
(30 2 OfIRI2f 7] 74 TRI0 509 TH7IX], FANHS 258, 8-
(2 Ui ZE5I0] £A4E SHED, SN 24Kt E Al 270 Hef & =

Irn

> TROO HEX| Z|F QHIL| FF0f| W2 X7t Y= = 2 wAZ=S SO T2 EE L S
(TR90 BEIX| 2|F =4 = 35 O|U)
> BlAF APEO| w2t 4 F S0l XHE + US

> & ot JHel 2O|FIERE 1,400,000 Ol F0f 7| &
QA ol 2= I—I:HI|:|-|)\ :ikf-g- 7Hs)
> e 1I3, 7|&§ IIE= =X A X Q|
>)k|-0u o=2El E}Oq |o+|)u_ oo 7|7t 32 & A 4 oA

> TR90 90 T{7|X| HFE A| A2 EC R FHE Z2EI OO m|AA L 5| Hrete|ofof &
Ar2&9 s, ‘%i'*e', TJIA[HI“ AR AE] SO ALRZ A2 E Histo| 2715t 3R S2 A2 E OjHret

Al HE WS HOf 7HH 22 27t 7é’(l%!)

2o2nd Y Y 2ol the A5HQl siAlo| Hals slMol YALIE



